[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢
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TrigonometryExercise6 for No.9594

NO]:[.I:(2sin(6)+1=0) .2:(4[cos(9)]2—3=0)}
3=(sin(40)=0) A4=(cos(30)=1)
.]=(2[sin(9)]2—3sin(9)+1=0) .2=(2[sin(9)]2+cos(9)—1=O)
No2=| .3=(2[cos(0)]* —cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0) =sin(0)) 6=(4[sin(8)] —sin(6)=0)
N03:[.I:(2sin(6)—1:0) .2:(4[sin(6)]2—1:0)}
3=(sin(30)=0) 4=(cos(20)=1)
I =(2[sin(0) +sin(0)—1=0) .2=(2[sin(8)]* -3 cos(8)—3=0)
Nod=| .3=(2[cos(0)]*+cos(6)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)] —cos(0)=0)
N05:[ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:3)}
3=(2tan(0) sin(0) =tan(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9608

NO]={]=(2sin(9)+1=O) .2=(4[sin(9)]2—1=0)}
3=(cos(20)=0) A4=(cos(30)=1)
I=(2[sin(0)=3sin(0)+1=0) .2=(2[sin(0)]* = cos(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(cos(6)—sin(6):«/5)
S =(tan(0)sin(0)=tan(H)) .6=(4[sin(9)]3—sin(9)=0)
N03=[.1:(2cos(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(20)=0) A4=(sin(40)=1)
.1:(2[sin(8)]2+3sin(8)+1=O) .2=(2[sin(6)]2+cos(8)—1:O)
No4=| .3=(2[cos(0)]* +cos(6)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) cos(0)=tan(0)) 6=(4[sin(0)] —3sin(0)=0)
N05=[ 1=(25sin(0)-1=0) .2=(4[sin(9)]2=3)}
3=(2tan(0)sin(0)=tan(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.9646

I=(2sin(0)+1=0) .2=(4[sin(0)] 3= 0)}
3=(cos(40)=0) 4=(cos(30)=1)

d=(2 [cos(@)]z—cos(e)— 1=0) .2=(2 [sin(@)]z—cos(e)— 1=0)
No2 =

No]:[

3=(2 [cos(@)]2+cos(8):0) 4 =(sin(0)—cos(0) :«/5)
S =(tan(0)sin(0)=tan(0)) 6= (4[sin(0)] —3sin(6)=0)

N03:[.I:(2sin(6)—1=0) .2=(4[cos(6)]2—1=0)}
3=(sin(30)=0) 4=(sin(20)=1)
I=(2[cos(0))+3cos(8)+1=0) .2=(2[sin(0)]*+3cos(0)—3=0)
Nod = 3=(2[sin(0)]* —sin(0)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(6)]3—sin(6):0)
N05:[ 1=(2cos(8)—1=0) .2:(4[003(9)]2:3)}
3 =(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXKXKXKXXKMS/1-6600306-00004XX
TrigonometryExercise6 for No.9649

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’—1= 0)}

3=(sin(30)=0) 4=(sin(20)=1)
I=(2[cos(0)] +cos(0)=1=0) .2=(2[cos(0)]*+sin(0)—1=0)
No2 = .3:(2[cos(6)]2+cos(6):0) .4:(sin(6)+cos(6):«/5)
S =(tan(0)sin(0)=tan(H)) .6=(4[cos(9)]3—cos(9)=0)
N03:[.]:(2sin(6)+1:0) .2:(4[sin(9)]2—1=0)}
3=(cos(30)=0) 4=(cos(20)=1)
d=(2[cos(0) =3 cos(0)+1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
No4=| .3=(2[cos(0)]*—cos(0)=0) .4=(cos(6)—sin(6):«/5)
.5=(tan(0) sin(0) = sin(0)) 6=(4[sin(0)] —3sin(0)=0)
NO5{ I=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
.3 =(2tan(0) cos(0)=tan(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.9669

d=(2sin(0)+1=0) .2=(4[cos(0)]*-3= 0)}
3=(sin(20)=0) 4=(sin(30)=1)

d=(2 [cos(@)]2+cos(9)— 1=0) .2=(2 [sin(@)]2+cos(9)— 1=0)
No2 =

No]z{

3=(2 [cos(@)]2 —cos(0)=0) .4 =(cos(0)—sin(0) :«/5)
S =(2tan(0) cos(0)=tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)

N03:{I:(2cos(6)—1:0) .2:(4[sin(6)]2—1:0)}
3=(cos(30)=0) 4=(cos(40)=1)
1=(2[cos(0)] =3 cos(8)+1=0) .2=(2[sin(6)]°—3cos(0)—3=0)
Nod = 3=(2[sin(0)]* +sin(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)] =3 cos(0)=0)
N05:[ 1 =(2sin(0)—1=0) .2=(4[cos(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9717

I=(2sin(0)—1=0) .2=(4[cos(0)]*-3= 0)}
3=(sin(20)=0) 4=(cos(30)=1)

I=(2[sin(0)] +sin(0)=1=0) .2=(2[cos(0)]*+sin(0)—1=0)
No2 =

No]:{

3=(2 [sin(e)]z—sin(e) =0) 4= (cos(0)— sin(e):«/g)

S =(tan(6) cos(0) =tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)
No3=[']:(2 sin(0)+1=0) .2:(4[sin(9)]2—1=0)}
3=(cos(40)=0) 4=(cos(20)=1)
Ad=(2 [sin(@)]z— 3sin(B)+1=0) .2=(2 [sin(@)]2—3 cos(0)—-3=0)
No4=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
5=(2tan(0) cos(H) =tan(0)) 6=(4[sin(0)] —3sin(0)=0)

N05_[ I=(2cos(8)—1=0) .2:(4[005(9)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.9763

NO]_[.I=(2sin(6)+1:0) .2=(4[sin(6)]2—3=0)}
L 3=(sin(40)=0) 4=(sin(30)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[sin(0)]* -3 cos(8)-3=0)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) cos(6) =tan(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03_[.I:(2sin(6)—1=0) .2:(4[cos(6)]2—1=0)}
L .3=(sin(20)=0) 4=(cos(20)=1)
d=(2[cos(0)]*—cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
Nod=| .3=(2[sin(0)]" —sin(6)=0) .4=(sin(9)—cos(9)=«/5)
5=(2tan(0)sin(0) =tan(0)) 6= (4[sin(0)] - 3sin(0)=0)

No _[ A =(2cos(0)-1=0) 2=(4[cos(0)]=3) }
- 3= (tan(0) sin(0)=tan(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.9877

I=(2sin(0)+1=0) .2=(4[cos(0)]*—1= 0)}
3=(sin(30)=0) 4=(cos(20)=1)

I=(2[sin(0)] +sin(0)—1=0) .2=(2[sin(0)] +cos(8)—1=0)
No2 =

No]:{

3=(2[cos(8)]* —cos(8)=0) 4 =(sin(0)+ cos(0) :«/E)
J=(2tan(0) cos(0)=tan(H)) 6=(4 [cos(e)]3 —cos(0)=0)

N03=[.1 = (2sin(0)—1=0) .2=(4[sin(0)]’—1= 0)}

3=(sin(20)=0) 4=(sin(40)=1)
d=(2[sin(0) =3sin(0)+1=0) .2=(2[cos(0)]°—3sin(0)-3=0)
No4=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(e)]3—3cos(9)=0)
N05:[ I=(2cos(8)—1=0) .2:(4[005(9)]2:3)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—3:0)
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TrigonometryExercise6 for No.9911

NO]:[.I:(2sin(6)+1=0) .2=(4[cos(9)]2—3=0)}
3=(cos(30)=0) A4=(sin(20)=1)
.1=(2[cos(9)]2—cos(9)—1=0) .2=(2[sin(9)]2—cos(9)—1=0)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0)sin(0) =tan(0)) .6=(4[sin(0)] —sin(0)=0)
N03:[.1=(2cos(e)—1=0) .2:(4[sin(6)]2—3:0)}
3=(cos(40)=0) A4=(cos(20)=1)
I=(2[cos(0)] =3 cos(8)+1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
Nod=| .3=(2[cos(0)] —cos(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) cos(0)=tan(0)) 6=(4[sin(0)] -3sin(0)=0)
N05:[ 1=(25sin(0)-1=0) .2:(4[sin(6)]2:1)}
3= (tan(0) cos(0)=cos(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.10027

Nol z[z —(2sin(0)+1=0) .2=(4[sin(6)=3= 0)}

3=(sin(30)=0) 4=(cos(40)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[sin(0)]* =cos(6)—1=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03=[.]=(2cos(6)—1=0) .2:(4[cos(9)]2—3=0)}
3=(sin(20)=0) 4=(sin(40)=1)
d=(2[sin(0)] —sin(0)—1=0) .2=(2[cos(0)]*+3sin(6)-3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N05:[ 1=(2sin(8) - 1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.10063

NOI_[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—3=0)}
L .3=(cos(20)=0) 4=(cos(30)=1)
1=(2[sin(0)] +3sin(0)+1=0) .2=(2[sin(0)]*+3cos(8)—3=0)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(2tan(0)sin(0)=tan(0)) .6:(4[cos(e)]3—3cos(9)=0)
NOS_[.I:(2sin(6)—l=0) .2:(4[005(6)]2—120)}
L .3=(sin(20)=0) 4=(sin(30)=1)

.3=(2[sin(9)]2—sin(9)=0) .4=(cos(9)—sin(9)=«/5)

S =(tan(0) cos(0)=cos(0)) .6:(4[005(6)]3—cos(6):0)

No :[ 1 =(2sin(0)+1=0) 2=(4[sin(0)P=1) }
3= (tan(0) sin(0)=tan(O)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

I=(2[cos(0)]"—cos(0)—1=0) .2=(2[sin(8)]* —cos(8)—1=0)
No4 =
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TrigonometryExercise6 for No.10120

NO]={]=(2sin(9)+1=O) .2=(4[sin(9)]2—1=0)}
3=(cos(30)=0) A4=(sin(20)=1)
d=(2[cos(0)*+3cos(0)+1=0) .2=(2[cos(0)]* +sin(6)—1=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0) =sin(0)) .6=(4[sin(9)]3—sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[sin(6)]2—3=0)}
3=(cos(20)=0) 4=(sin(40)=1)
.1:(2[sin(8)]2—3sin(8)+1=O) .2=(2[cos(6)]2—sin(8)—1:O)
No4=| .3=(2[cos(0)]* +cos(0)=0) .4:(sin(6)—cos(6):«/5)
5= (tan(0) cos(0) = tan(0)) 6=(4[sin(0)] —3sin(0)=0)
N05:[ 1=(2cos(8)—1=0) .2:(4[005(9)]2:1)}
3 =(2tan(0) cos(0)=tan(0)) .4:(3[tan(6)]2—1=0)
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TrigonometryExercise6 for No.10367

NOI:[.I=(2COS(6)—1:O) .2:(4[cos(9)]2—1=0)}
3=(cos(30)=0) 4=(cos(40)=1)
.]=(2[cos(9)]2—3cos(9)+1=0) .2=(2[sin(9)]2—cos(9)—1=0)
No2 = 3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0)sin(0)=tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N03:[.I:(2sin(6)—1:0) .2:(4[sin(6)]2—1:0)}
3=(cos(20)=0) 4=(sin(20)=1)
I=(2[sin(0)F +3sin(0)+1=0) .2=(2[sin(0)]* +cos(6)—1=0)
Nod=| .3=(2[sin(0)]*—sin(6)=0) .4=(cos(9)—sin(9)=«/5)
.5 =(tan(0) sin(0) =sin(0)) .6:(4[cos(e)]3—3cos(6):0)
N05{ 1=(25sin(8)+1=0) .2:(4[sin(6)]2:3)}
3 =(tan(0) cos(0)=tan(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.10372

Nol z[z —(2sin(0)+1=0) .2=(4[sin(6)=3= 0)}

3=(sin(36)=0) 4=(cos(20)=1)
d=(2[cos(0)]*=3cos(0)+1=0) .2=(2[sin(0)] +cos(6)—1=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[sin(9)]3—3sin(9)=0)
N03:[.]:(2sin(6)—1:0) .2:(4[sin(9)]2—1=0)}
3=(cos(30)=0) 4=(sin(20)=1)
d=(2[cos(0)] +cos(8)—1=0) .2=(2[sin(0)]* =3 cos(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[sin(8)] —sin(6)=0)
NO5{ I=(2cos(8)—1=0) .2=(4[cos(9)]2:1)}
J=(tan(0)cos(B)=tan(0)) .4=(3 [tan(@)]z— 1=0)
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TrigonometryExercise6 for No.10375

I=(2sin(0)-1=0) .2=(4[cos(0)]*-3= 0)}
3=(sin(40)=0) 4=(sin(20)=1)

1 =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(0)]*—cos(6)—1=0)
No2 =

No]z{

3=(2 [cos(@)]2+cos(8):0) 4 =(cos(0)— sin(@):«/z)
S =(2tan(0)sin(0)=tan(0)) 6=(4 [cos(@)]3 —3cos(0)=0)

Nos :{1 —(2cos(8)—1=0) .2=(4[sin(0)] =3= 0)}
3=(cos(30)=0) 4=(cos(40)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[sin(0)]* —sin(6)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) sin(0)=tan(0)) 6=(4[cos(0)] —cos(0)=0)

No _{ A=(2sin(0)+1=0) 2=(4[sin(0)]’=1) }
- .3 =(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXKXKXKKXKMS/1-6600306-00016XX
TrigonometryExercise6 for No.10426

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(cos(40)=0) 4=(cos(20)=1)
I=(2[sin(0) +3sin(0)+1=0) .2=(2[sin(0)]* =cos(6)—1=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(tan(6) cos(0) =tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03=[.]=(2cos(6)—l:0) .2=(4[cos(9)]2—3=0)}
3=(sin(20)=0) 4=(sin(40)=1)
d=(2[cos(0)] —cos(8)=1=0) .2=(2[cos(0)]*+3sin(6)—3=0)
Nod=| .3=(2[sin(0)]" +sin(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) 6=(4[cos(0)]’ =3 cos(0)=0)
N05:[ 1=(2sin(8) - 1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—3:0)
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TrigonometryExercise6 for No.10628

NO]:[.I=(2sin(6)+1=0) .2=(4[cos(9)]2—1=0)}
3=(cos(30)=0) 4=(sin(30)=1)
1 =(2[sin(0)] +sin(0)—1=0) .2=(2[cos(0)]*—3sin(6)—3=0)
No2=| .3=(2[sin(0)]*—sin(0)=0) .4:(sin(6)+cos(6):«/5)
S =(tan(0) cos(0)=cos(0)) .6=(4[cos(e)]3—3cos(9)=0)
N03:{1:(2sin(e)—1:0) .2:(4[sin(6)]2—3:0)}
3=(sin(40)=0) 4=(cos(40)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(8)]* +3 cos(8)—3=0)
Nod=| .3=(2[cos(0)]*+cos(6)=0) .4=(cos(9)—sin(9)=«/5)
S=(2tan(0) cos(0)=tan(0)) .6:(4[cos(6)]3—cos(6):0)

No _{ A=(2cos(0)-1=0) .2:(4[cos(6)]2:3)}
- 3= (tan(0) sin(0)=tan(H)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.11408

Nol =[‘] =(2sin(0)—1=0) .2=(4[cos(0)]’—1= 0)}

3=(cos(40)=0) A4=(sin(20)=1)
I=(2[cos(0)] —cos(0)—1=0) .2=(2[cos(0)]*—sin(0)—1=0)
No2=| .3=(2[sin(0)]*—sin(6)=0) 4 =(sin(0)—cos(0) :«/E)
J=(2tan(0)sin(O) =tan(0)) 6=(4 [cos(@)]3 —3cos(0)=0)

No3=[‘] =(2sin(0)+1=0) .2=(4 [Cos(e)]2_3 :0)}

3=(sin(40)=0) 4=(cos(20)=1)
d=(2[cos(0) =3 cos(0)+1=0) .2=(2[sin(0)]* =3 cos(0)—3=0)
No4=| .3=(2[cos(0)]*+cos(0)=0) .4=(cos(6)—sin(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) 6=(4[sin(0)] —sin(0)=0)
N05:{ I=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
3= (tan(6) cos(0) =tan(0)) .4:([tan(6)]2—3:0)
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TrigonometryExercise6 for No.11560

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(sin(20)=0) 4=(cos(20)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[sin(0)]*+3 cos(8)—-3=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(0)=tan(0)) 6= (4[sin(8)] -3 sin(0)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[cos(6)]2—3:0)}
3=(sin(40)=0) 4=(sin(30)=1)
I =(2[sin(0)] —sin(0)—1=0) .2=(2[sin(8)]* -3 cos(8)—3=0)
Nod=| .3=(2[cos(0)]*—cos(8)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(6)]3—cos(6):0)
N05:[ 1=(2cos(8)—1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4=([tan(9)]2—3=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.11806

NO]={]=(2sin(9)—1=O) .2=(4[sin(9)]2—3=0)}
3=(cos(20)=0) 4=(sin(40)=1)
I =(2[sin(0)] +sin(0)=1=0) .2=(2[sin(0)]" +3 cos(6)=3=0)
No2 = .3:(2[sin(6)]2—sin(6):0) .4:(sin(6)+cos(6):«/5)
5 =(tan(0) sin(0) =tan(0)) .6=(4[cos(9)]3—3cos(9)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[sin(9)]2—1:0)}
3=(sin(30)=0) 4=(cos(30)=1)
d=(2[cos(0)]"—cos(8)—1=0) .2=(2[cos(0)]*=3sin(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
.5=(tan(0) cos(0) = tan(H)) 6= (4[sin(8)] -3 sin(0)=0)
NO5{ 1=(2cos(8)—1=0) .2:(4[cos(9)]2:3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—3:O)
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TrigonometryExercise6 for No.12219

NO]:[.I:(2sin(6)+1=O) .2=(4[cos(9)]2—3=0)}
3=(cos(40)=0) A4=(sin(40)=1)
.]=(2[cos(9)]2+3cos(9)+1=0) .2=(2[sin(9)]2+cos(9)—1=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4=(cos(6)—sin(6):«/5)
S =(tan(0) cos(0)=tan(0)) 6=(4[sin(0)] —3sin(0)=0)
N03:[.1=(2cos(e)—1=0) .2:(4[sin(6)]2—3:0)}
3=(cos(20)=0) 4=(sin(20)=1)
d=(2[cos(0)] +cos(0)—1=0) .2=(2[sin(0)]*+3 cos(8)-3=0)
Nod=| .3=(2[cos(8)]*—cos(0)=0) .4=(sin(9)+cos(9)=«/5)
J=(2tan(0) sin(0)=tan(0)) 6=(4[cos(0)] —cos(0)=0)
N05:[ 1=(25sin(6)~1=0) .2:(4[sin(6)]2:1)}
3=(2tan(0) cos(0)=tan(H)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.12954

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

.3=(cos(40)=0) 4=(sin(40)=1)
d=(2[cos(0)]*—cos(0)—=1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2 = .3:(2[sin(6)]2+sin(6):0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6=(4[cos(9)]3—cos(9)=0)
N03={]=(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(sin(26)=0) A4=(sin(30)=1)
.1:(2[sin(8)]2+3sin(8)+1=O) .2=(2[cos(6)]2—sin(8)—1:O)
No4=| .3=(2[sin(0)] —sin(0)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0)sin(0)=tan(0)) 6=(4[sin(0)] —3sin(0)=0)
N05:[ 1=(2sin(8) - 1=0) .2:(4[sin(6)]2:1)}
3=(2tan(0)sin(0)=tan(0)) .4:([tan(6)]2—3:O)

X [Page = 0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXKXKXKXKXKXKXKXKXKXKXKKX XXX KXXXXXXXKXKXXX



);0:9:9.:0:9:9.:0:9:9.0:9:9.0:9:9.0:9:9.0:9.:9.0:9:9.0:0.:9.0:9.:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:9.0:0:0.0:0.¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXM5/1-6600306-00023XX
TrigonometryExercise6 for No.12964

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(cos(30)=1)
.]=(2[sin(9)]2—3sin(9)+1=0) .2=(2[sin(9)]2+cos(9)—1=O)
No2=| .3=(2[sin(0)] —sin(0)=0) .4:(sin(6)+cos(6):«/5)
.5=(2tan(0) sin(0) = tan(0)) 6= (4[sin(0)] —sin(0)=0)
N03:[1=(2cos(e)—1=0) .2:(4[cos(6)]2—3=0)}
3=(cos(20)=0) 4=(sin(40)=1)
d=(2[cos(0)*+3cos(0)+1=0) .2=(2[sin(8)]*—cos(8)—1=0)
Nod=| .3=(2[cos(0)] +cos(0)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[cos(e)]3—3cos(6):0)
N05:[ 1=(25sin(0)-1=0) .2:(4[sin(6)]2:1)}
3= (tan(0) cos(0)=cos(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢
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TrigonometryExercise6 for No.12971

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’ 1= 0)}

3=(sin(40)=0) 4=(sin(30)=1)
d=(2[cos(0)*+cos(0)—1=0) .2=(2[sin(0)]* =3 cos(6)-3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(sin(6)—cos(6):«/5)
J=(2tan(0)cos(B)=tan(H)) .6=(4[sin(9)]3—3sin(9)=0)
N03={]=(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(cos(30)=0) 4=(cos(40)=1)
.1:(2[sin(8)]2—3sin(8)+1=O) .2=(2[sin(6)]2+cos(8)—1:O)
No4=| .3=(2[cos(0)]* +cos(6)=0) .4:(cos(6)—sin(6):«/5)
S =(tan(0) sin(0) =sin(0)) 6=(4[sin(8)] —sin(6)=0)
No5={ A=(2sin(0)—-1=0) .2=(4[cos(9)]2=3)}
3= (tan(6) cos(0) =tan(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.13023

NO]_[.I:(2sin(6)—1:O) .2:(4[sin(9)]2—1:0)}
L .3=(cos(20)=0) 4=(sin(40)=1)
1=(2[cos(0)]+3cos(8)+1=0) .2=(2[sin(0)]°+3cos(0)—3=0)
No2=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0) cos(6) =tan(0)) .6:(4[cos(6)]3—cos(9)=0)
N03_{1:(2sm(e)+1:0) .2:(4[cos(6)]2—1=0)}
L .3=(sin(36)=0) 4=(cos(40)=1)

.3=(2[sin(9)]2—sin(9)=0) .4=(cos(9)—sin(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[sin(6)]3—sin(6):0)
Yo :[ 1=(2cos(8)—1=0) 2=(4[cos(0) =3) }

.3 =(tan(0) sin(0) =sin(0)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

I=(2[cos(0)+cos(0)—1=0) .2=(2[cos(0)]*+sin(8)—1=0)
No4 =
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TrigonometryExercise6 for No.13033

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(sin(40)=0) A4=(sin(30)=1)
d=(2[cos(0)]*+cos(0)—1=0) .2=(2[cos(0)]*+3sin(0)-3=0)
No2 = .3:(2[cos(6)]2—cos(6):0) .4:(cos(6)—sin(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6=(4[sin(9)]3—sin(9)=0)
N03:[.1:(2sin(6)—1:0) .2:(4[cos(9)]2—1=0)}
3=(sin(20)=0) 4=(cos(20)=1)
.]:(2[cos(8)]2+3cos(8)+1=0) .2:(2[sin(6)]2+cos(6)—1:0)
No4=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(0)sin(0)=tan(0)) 6=(4[cos(0)] —cos(0)=0)
NO5{ I=(2cos(8)—1=0) .2=(4[sin(9)]2=3)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.13197

NO]_{I:(2sin(6)+1:O) .2=(4[cos(9)]2—1=0)}
L .3=(sin(20)=0) 4=(cos(40)=1)
1=(2[cos(0)] =3 cos(8)+1=0) .2=(2[cos(0)]*—3sin(6)—-3=0)
No2 = 3=(2[sin(0)] +sin(0)=0) .4:(sin(6)+cos(6):«/5)
5= (2tan(0) cos(0)=tan(0)) .6:(4[cos(e)]3—3cos(9)=0)
N03_[.1=(2cos(e)—1=0) .2:(4[sin(6)]2—3:0)}
L .3=(sin(30)=0) 4=(cos(20)=1)

I=(2[sin(8)] +sin(0)—1=0) .2=(2[cos(0)]*+sin(8)—1=0)
Nod=| .3=(2[cos(0)]*—cos(6)=0) 4=(cos(0) - sin(e)=ﬁ)

S =(tan(0) sin(0) =tan(0)) 6=(4 [cos(e)]3 —cos(0)=0)
N05—{ 1 =(2sin(0)—1=0) .2:(4[sin(6)]2:1)}
3= (tan(0) cos(0) =tan(0)) .4=([tan(9)]2— 1=0)
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TrigonometryExercise6 for No.13907

Nol =[‘] =(2sin(0)+1=0) .2=(4[cos(0)]’-3= 0)}

3=(cos(30)=0) 4=(cos(20)=1)
I =(2[sin(0)] +sin(0)=1=0) .2=(2[sin(0)]" +3 cos(6)=3=0)
No2=| 3=(2 [cos(@)]z—cos(G)zo) 4= (cos(0)— sin(e):«/g)
J=(2tan(0)cos(B)=tan(H)) 6=(4 [cos(@)]3 —3cos(0)=0)

N03=[1 C(2cos(0)—1=0) .2=(4[sin(0)] 3 :0)}

3=(sin(40)=0) 4=(cos(40)=1)
d=(2[cos(0)] —cos(8)—1=0) .2=(2[sin(0)]* =3 cos(6)—3=0)
Nod=| .3=(2[cos(0)]*+cos(0)=0) .4:(sin(6)+cos(6):«/5)
J=(2tan(0) sin(0) =tan(0)) 6=(4[sin(8)] —sin(6)=0)
N05{ 1=(2sin(0)—1=0) .2:(4[sin(9)]2=1)}
3= (tan(0) cos(0) =cos(0)) .4:([tan(6)]2—1:O)
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TrigonometryExercise6 for No.13991

Nolz[lz(2cos(6)—1=0) .2=(4[sin(9)]2—3=0)}
3=(sin(30)=0) 4=(cos(40)=1)
.1=(2[cos(9)]2—cos(9)—1=0) .2=(2[cos(9)]2—sin(9)—1=0)
No2=| .3=(2[sin(0)] +sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(2tan(0) cos(0)=tan(0)) .6:(4[005(9)]3—cos(6)=0)
N03:[.1:(2sin(6)+1:0) .2:(4[cos(6)]2—3:0)}
3=(cos(20)=0) 4=(cos(30)=1)
I=(2[sin(8) +3sin(0)+1=0) .2=(2[sin(0)]*+3 cos(6)—3=0)
Nod=| .3=(2[cos(8)]*—cos(0)=0) .4=(sin(9)+cos(9)=«/5)
S =(tan(0) cos(0)=cos(0)) .6:(4[cos(e)]3—3cos(6):0)

No _[ A=(2sin(0)-1=0) 2=(4[sin(0)]7=1) }
- 3= (tan(0) sin(0)=tan(O)) .4=(3[tan(9)]2—1=0)

):9:0:9.0:0:9.0.0:9.0:0:9.:0:0:9.9.0:9.0.0:9:0.0:9.:0.0:0.9.0:9.:9.0:9.9.0:0.9.0:0:0.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:¢

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXKXKXKKXKMS/1-6600306-00030XX
TrigonometryExercise6 for No.14005

I=(2sin(0)—1=0) .2=(4[cos(0)]*-3= 0)}
3=(cos(20)=0) 4=(cos(30)=1)

I=(2[sin(0)] -sin(0)—1=0) .2=(2[sin(0)]* —cos(8)—1=0)
No2 =

No]:{

3=(2[cos(8)]* —cos(8)=0) 4 =(sin(0)+ cos(0) :«/E)
J=(2tan(0)sin(O) =tan(0)) 6=(4 [cos(@)]3 —3cos(0)=0)

N03=[1 C(2cos(0)—1=0) .2=(4[sin(0)] 3 :0)}

3=(cos(40)=0) 4=(sin(30)=1)
I=(2[cos(0)] =3 cos(0)+1=0) .2=(2[cos(0)]°—=3sin(6)—3=0)
Nod = 3=(2[sin(0)] +sin(0)=0) .4:(sin(6)—cos(6):«/5)
S =(tan(6) cos(0)=tan(0)) 6=(4[cos(0)]’ —cos(0)=0)
N05:[ 1=(2sin(0)+1=0) .2:(4[sin(6)]2:1)}
.3 =(tan(0) sin(0) =sin(0)) .4:([tan(6)]2—1:0)
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TrigonometryExercise6 for No.14157

NO]:[.I:(2sin(6)+1:O) .2=(4[sin(6)]2—3=0)}
3=(cos(40)=0) 4=(sin(30)=1)
.]=(2[sin(9)]2—3sin(9)+1=0) .2=(2[sin(9)]2+cos(9)—1=O)
No2=| .3=(2[cos(0)]* —cos(0)=0) .4:(cos(6)—sin(6):«/5)
.5 =(tan(0) sin(0) =sin(0)) .6:(4[cos(e)]3—3cos(9)=0)
NOSZ[.I:@sin(G)—l:O) .2:(4[cos(6)]2—3:0)}
3=(sin(40)=0) 4=(cos(20)=1)
I=(2[sin(0)F +3sin(0)+1=0) .2=(2[sin(0)]* —cos(8)—1=0)
Nod=| .3=(2[cos(8)]*+cos(0)=0) .4=(sin(9)—cos(9)=«/5)
S =(tan(0) cos(0) =tan(0)) .6:(4[cos(6)]3—cos(6):0)
N05:[ 1=(2cos(8)—1=0) .2=(4[cos(6)]2:1)}
3=(2tan(0) sin(0) =tan(0)) .4=([tan(9)]2—1=0)
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